
Greevisthm

A curve C is simple if it has no self - intersections .
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It is closed if it has no endpoints.
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Sps D is bounded by a simple closed curve C
.

C has positioned relative to D

rt D is on

your left as you traverse c.

C -- d D

'
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Thin (Green's Thm) *
I

let D be a closed
,

bounded region in 1122 whose

boundary C is made up of a finite number of
simple closed curves .

It Mcx ,y) and Nlx , y) have continuous partial
derivatives in D then
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Sps . C has positive orientation rel . to D.
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sometimes I written § when C closed .



EI : Evaluate 4×3 ydx teddy over curve C
.
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↳ 4 components to C =

0

this is ft . ds

where F = (x'y , EY) .

BIG PAIN
.

•

check: orientation of C pros . rel to interior ✓

By Green's Thm :
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